( What am I? )

Subtract and use the letters to find the answer to the riddle

380 — 300= (0] L /v
300 — 200= | P )

790 — 780=DU

450 — 400= |B 125 — 100={ | P
290—200=DY 360—320=DR

What will you see when you throw butter out of the window ?

30 50 10 60 60 70 40 20 80 90
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( What am I? )

Subtract and use the letters to find the answer to the riddle

380 — 300= (0] L /v
300 — 200= (100 P ‘ )
790 — 780= (10| U /

540 — 510=(30] A 380 — 820=T

680 — 610=(70 | E 480 — 460= (20 F

450 — 400=(50 B | 125 — 100=[25| P

290 — 200=Y 360 — 320= R

What will you see when you throw butter out of the window ?

30 50 10 60 60 70 40 20 80 90
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